E 0 & AFHE®E B M A

20138 = =20 & LEFH RMS ~ R4t

SN RS
Bu: 24S ZOBINUIA BE Ys
ool QUSTEoMET R CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
RUS 367,881 359,392 8,489
Ruts FLAEIANHA 5 23t 165,762 161,412 4,350
SUSFUMET 165,762 161,412 4,350
uES FUNIMEHSY 15,000 15,000 0
201 Let24dy] 15,000 15,000 0
01 At 2teltl 15,000 15,000 0
OFLUXXHEH 224l 15,000,000& 14! 15,000
FUHFHAE 80,460 79,660 800
301 gt d= 80,460 79,660 800
05&-cl-tEEs2as 79,460 78,660 800
Os&E=+g 200,000& #2221« 12& 52,800
Os&ddN= 200,000& #2201 x23| 8,800
O8&3lo &g 20,0003 x2221+23| 122 10,560
Ot &Sl 50,000& =146 7,300
10 #ALAHIEAZ 1,000 1,000 0
ORSE UL AL S HAX AHIBA
1,000,000& 14 1,000
A2 2el 18,103 15,953 2,150
201 et 12,953 12,953 0
02 2324l 12,953 12,953 0
OZ22223 ¥ HAl 9,253,000 x 14! 9,253
OAEZHI S X 1,000,000 * 14! 1,000
O =l 2,700,000& x 14! 2,700
401 AIEHI L 20HEI 5,150 3,000 2,150
01 A& HI 5,150 3,000 2,150
SsF=MAEH 2tE WA X 350,000 1Al 350
OSZOIME 82 HEI2 M 43|
3,000,000 » 14! 3,000
OFQUNXMEH AIS2HA(35) 2t20l XS
At 1,800,000& 14 1,800
HEXA 50,699 49,299 1,400
201 24l 22,539 22,539 0
01 At 2t 2l 16,039 16,039 0
O e8| 13,239,000& 14 13,239
ozg=+¢ 1,800,000& 14 1,800
OxXgLxz 1,000,000& 14 1,000
02 2324l 6,500 6,500 0
ORERS 6,500,000 » 14! 6,500
202 Odl 25,760 25,760 0




SN RS
HE: 20 FUBIMUA BS Y3
S RQMNSEOIMBI S (B9 ®R)
- RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 2L Hl 25,760 25,760 0
OJl2gde2a=sod(112!) 1,980,000& x12& 23,760
O22 o H| 2,000,000& x14l 2,000
405 XHAHFEI S HI 2,400 1,000 1,400
01 AL 2 ZF S| 2,400 1,000 1,400
O&ZAH A 200,000 = 1CH 200
OEIpsE==1=pl 700,000 ~1CH 700
OQIHA HI|&=Y HAIAAH
1,500,000 = 14! 1,500
A2z X3 1,500 1,500 0
201 gBt2A | 1,500 1,500 0
02 =224 H| 1,500 1,500 0
OZ3=2E A22e)] A4
1,500,000 = 14! 1,500
AtS AIE A H| 158,760 158,566 194
LQMESARDFOU=IAAY 158,760 158,566 194
LQUE FOU=SRAAY 150,540 150,540 0
401 Al HI L £ 0HHI 150,540 150,540 0
01 Al& b 150,000 150,000 0
O3 &2 (uga) Xl = AH(L=150m)
26,000,000 x1A! 26,000
O3 HEA d =42 &XZ2AHL=150m)
20,000,000 x1A! 20,000
0128 T2 (U8 &) & X2 AHL=50m)
10,000, 000 = 1Al 10,000
ORQAED APAHE oz =22 DA ZAHL=160m)
22,000, OOOOJ*VA! 22,000
0218 282 42 ((UgER) A X2 AHL=150m)
15,000, 000 = 1Al 15,000
O218 A g2 AXIZ2AH(L=27m)
5,400,000 x4l 5,400
0218 23 T2 (Ug2) & X ZAHL=81m)
10,500, 000 = 1Al 10,500
0218 23 ®A LI ZAHL=70m)
19,600, 000 = 1Al 19,600
O128 142 & X ZAHL=101m)
21,500,000 = 1A! 21,500
03 Al 20| 540 540 0
OAlIE S0l 150,000, 0002 *0.72/100%0.5 540
S 23X 8,220 8,026 194
101 e1214| 8,220 8,026 194
04 JI2ZtHI22NEES 8,220 8,026 194
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